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QUESTION BOOKLET

This question paper contains 200 questions. / 8 I T H 200 TH % |
All questions are compulsory / aeft g9 AFETR |
One question carries half mark only. / T I4 o ToTU ohale? 31T 376 B |

Maximum Marks : 100 afe ?Fm'_d'q 37 : 100
Time : 2 Hours ;2 g0
1. Decimal number system has digits.
I 3 TG § 3hH B2 | mrm
A) 10 B) 2 C) 9 D) 16 =%
(A) (B) (©) (D) =
2.  The value of (1010) in decimal number system is

GIHETd 3Tk Ugfd o (IOIO)ZWHFI%
(A) 10 B) 8 €) 14 (D) 12

Which of the following is not a valid hexadecimal number ?

freafafga 7 9 =H 9t T 3y viey snur s i @ ?
(A) BAD (B) BEG (C) BED (D) ACE

A binary number can be easily converted to equivalent hexadecimal number
by formin % groups of successive bits starting from LSB

(TeTTHsl) & IEI Eb‘{ﬁ% AU Toed & |9
W%{ﬁﬁ; I T Bl SATEH B e TS AU T § ST foha

ST EHhAT B |
(A) 4 (B) 2 ©) 3 D) 5

What does MSB mean in binary number system ?

(A) Machine Specific Bus (B) Mechanical System Board
(C) Microsoft Business (D) Most Significant Bit

fg-smamt g ugfa O ardean g3t (Q‘H’Q’Fﬁﬁ) @a%n?n?qﬁ% ?

(A) Wi wfafhs ag (B) WHh{Tehet fireen &

(C) TTgshiatae foma (D) A ferfifthene fore

What is the default text alignment in MS-Word ?

(A) Right (B) Center (C) Justified (D) Left
THUE -8 | fethice JRe STeTgTHe F1 8 ? .

(A) < (W) (B) #eA (@) (C) SEREwEE (D) Sl (2Tw)

In MS-Word, which of the following tools can be used to find synonyms of a
word in a document ?
(A) Thesaurus (B) Autocomplete (C) Spellcheck (D) Autocorrect

T 1 giagH< | Toreht 31sg o T ¢ Tehrer o fotu f=faifea o wF &
@wmﬁn%mm% ? “

(A) i (B) a@w%lz (C) @a—é)a; (D) CIriEaC
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8.  What is the role of Ctrl + Y shortcut key in MS-Word ?
(A) Paste Special (B) Spellcheck (C) Undo (D) Redo

THUE-IE | Ctrl + Y Mdshe—hl &l T h1 (UA) B ?
(A) TR WA (B) W (C) 3Mg (D) fg

9.  Moving the cursor to the last cell of a table and pressing key will
ag end a new row to the table.
?(;Fj{ Enter (B) Insert (C) Tab (D) Down Arrow
i TTAR MG AARATR  Fl (key) T W oaeA § T 1
ufed (U) e & S |
(A) TH (B) ¥ (©) & (D) T

10. In MS-Word, which of the following tasks can be performed using ruler ?
A) to change page margins B) to set tabs
C) to setindents D) All of these
THUE-9E H, T o1 ST o [ {IRad H & <hiF H1 s () R ST Eshar & 7
(A) W%mﬁﬁﬁw (B) & T HEA
(C) 3= U T (D) ug @t

11. Wgat is tclll‘e? default number of lines dropped when using drop cap option in
MS-Wor
THUH-SS H Gl %Y forshed ol ITATT i THT HHl L &1 STt dferadl| shl fewice
TEATFTE ?
(A) 4 (B) 3 € 2 (D) 5

12. Pressing key three times select the current sentence 1n MS Word.

U9 § FI (key) TH IR SR g W FdqT a1 fetee 2T 2 |

(A) /9 (B) Ctul+Q (C) F5 (D) F8

13. What feature helps you to inserts the contents of the Clipboard as text without

3! formatting in MS Word ?

Paste Special (B) Autocomplete C) Thesaurus (D) Mail Merge
fgﬂﬁ En o Threre SR oh AL T L hid
ﬁ 31|l4°h| I T IR HSM Ktr g ?

(A) "R TR (B) SAfeemide (C) off|r& (D) T A

14.  Which of the following is not a type of pa ge margin in MS-Word document ?
(A) rlght % top ) center (D) left

wﬁg@%mﬁﬁﬁmﬁﬁﬁmwwm(wmﬁh)w
ThR ?
(A) oife (Wge) (B) =W (2fa)  (C) wed (H=W) (D) oW (*Iw)

15. Portrait and Landscape are
gA) page orientations gB) page sizes

C) page larXoouts D) paper types
(A) tr%%lfqm m%m) (B) U3 M (U HIgs)
(C) W@m(ﬁaﬁ 34132) (D) YW YR (YT 13T

ot NG T ORI Seriee ATy
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16.

17.

18.

19.

20.

21.

22.

23.

Which of the following is not a valid section break in MS-Word ?
(A) Continuous (B) Previous Page (C) _Odd Page (D) Next Page
?

wug-9¢ H fF=fafad § 9 19 91 v 9= ,
(A) ®<ge® (B) fifmdw  (C) snigu (D) = U

In MS-Word, the list of recipients in mail-merge is known as a

(A) Data Source (B) Data Warehouse

(C) Data Structure (D) Database

w%—aéésmﬁﬁﬁanﬁﬁqﬁm?ﬁ(ﬁﬁqﬁa@)ﬁ{vﬁ BEEESIE
|

(A) STeTHH (B) SRIGERHE (C) SRITFER (D) I€d

What is the wildcard that matches one or more occurrences of a pattern in
MS-Word search ?
THUH-gE |4 # fohet T o Teh 3teran 31 Wi % agv asee HE HH AR 7

(A) @ (B) + <€ ? (D) =

What is the shortcut key in MS-Word to insert a manual line break ?

THUH-TE H A3 SATS Sieh $HC i hi IMIhe—ahl hi €l g ? 5
(A) Ctrl + Alt + Enter (B) Shift + Enter O
(C) Ctrl + Enter (D) Alt+ Enter

What key combination is used to move back to previous level of numbering/
bullets in MS-Word ?

THUH-TE § AST01/ge1ed ol qadd] &t 0 a9 A o Tt i F 6l (key) TS
1 ITANT fohaT ST 8 7

(A) Tab (B) Ctrl+Tab (C) Alt+Tab (D) Shift+ Tab

Font sizes are generally measured in points which is equal to of an inch.
HHTRIG: Bi HIES BT A G g H e e N Uhsa s SO E |
(A) 1/92 (B) 1/96 (C) l/64 (D) 1/72

What is the size of an A4 paper sheet ?

A4 U7 Sfte i a1es fohaft gt & 7

(A) 244 mm x 244 mm (B) 230 mm x 287 mm

(C) 210 mm x 297 mm (D) 197 mm x 247 mm

A computer can perform complex calculations with the same speed and

accuracy from the start till the end without getting tired. This characteristic

of a computer system is called

Tg@m)w Agility (B) Reliability (C) Diligence (D) Versatility
foRHT &R < Y[E3TTA § 311 deh Ueh hPL THEHT T T

TUMATE <kt FehelT & | P SOt <ht 5 ferfersedt bt HET AT 7 |

(A) 37{?1’1 (rfafarfe) (B) Taaatear (Fesfafate)

(C) wwrfassan (fefersmw) (D) El‘g’%l?l‘cﬂ (Gl'ﬁﬁf%ﬁ
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24.  Which of the following is considered to be the world's first commercially
available microprocessor ?
A) Pentium (B) Intel 4004 (C) ENIAC (D) CRAY-1
T S 91 fored T Hesem SATTNeh AR T STeTed HTSshISTEE T ST & 7

(A) ufaw (B) 324004 (C) SWAETH (D) HWTEE-1

25. The word algorithm is originated from the name of which Islamic scholar ?

(A) Al-Gore (B) Al-Khwarizmi
(C) Abu al-Hasan al-Ahwazi (D) Omar Khayyam
I 8 3HATH! fogM o A8 | Teied 3sg J=fetd g3 8 7
(A) FA-TR (B) AA-THTIGTHY
(C) 379 3TeT-8G 3T 3TgaTshl (D) W T=M
26. Who is considered to be the world’s first programmer ?
A) Lady Ada Lovelace EB) Bill Gates
C) Charles Babbage D) Allan Turing

AT T % dR o fopeg AT ST 2 7 ‘
(A) FEFgeEeH(B) foai@  (C) WEIET (D) Y i

27. Which of the following cellular technology is also known as 2.5G ?

A) GSM (B) LTE (C) 4G (D) GPRS
TR SaIettelt | | fohdl 2.5G | Wt IHT STt 8 7
(A) SiiTguH (B) TA (C) 4G (D) Sdi3TRTE
28. Who among the following is founder of Twitter ?
A) Vinod Khosla %B) Mark Zuckerberg
C) Jack Dorsey ) ~ (D) David Filo
T B Zeflet & TEATIH HIF & 7

(A) feAig@men (B) HAmbh Jobtart  (C) eh St (D) sfog fhent

29. Which of the following is not a version of Windows operating system ?
(A) Windows 7 (B) Windows 9 (C) Windows 8 (D) Windows 10
ffefaa # @ o a1 v foreia ST fen e T8 g 2
A) fa=7 (B) fa=r19 (C) fomer=r 8 (D) fomer= 10

30. A program written in generation programming languages is portable.
(A) 1% (B) 2 (C) 3¢ (D) All of these
Teh T S it Tt wrr | forat Bar 2, 98 TS BT # |
(A) 9| (B) fedt@ (C) g™ (D) ¥ @

31. Which of the following types of graphics represents images as a set of basic
drawing shapes like lines, circles and curves etc. ?

A) Plxel-be}\sed (B) Raster \.(C)\ Bitmapped_ (D) Vector
%ﬂ?ﬁﬂ\@ﬂ ITftheh oh SERRI | H M To=ll I {@13T1, I 3T T5h SATC S AT

SIS JATHRI o B i a8 Fefd Har g ?
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32.

33.

34.

3s.

36.

37.

38.

Which of the following is not a secondary storage device ?

A) Solid State Disk B) Random Access Memory
C) Pen Drive D) Hard Disk
T | HH H1 T doheall WA TE Q7
(A) Hifere w2 feeh (B) 1=H waEE A9
(C) W g (D) 7T fewh

Which of the following is a cloud based file storage service provided by Google ?
(A) Google Slides (B) Google Keep (C) Google Drive (D) Google One
T R G Ul TR FA1SE STUTHA Wisel ©RS Hall (HHTeIRad H 4 s €1 g ?

(A) T &isgd (B) s (C) Treiglsd (D) TIeAsH

Desktop and laptop computers are also known as

(A) Mini Computers (B) Server Computers

(C) Mainframes (D) Microcomputers
TUT YT SHPR[E 1 3T Tohdl ATH & STHT STl

?
(A) firft e (B) @ &rged (C) b (D) HIShIHPEH

Which of the following is the correct increasing order of memory capacity ?
A) Megabyte < Gigabyte < Petabyte < Terabyte
B% Gigabyte < Megabyte < Terabyte < Petabyte

C) Megabyte < Gigabyte < Terabyte < Petabyte
D) Gigabyte < Megabyte < Petabyte < Terabyte
T g i 91 3 FHIUE TSI HA G ? EEE
(A) HITTSTEE < TTISTSE < UeTeTee < SUsmee i
(B) TTETEe < HITETEE < SUETES < UTATEe
(C) TTETES < TTTETEE < SETEe < UeTase
(D) THTETEE < WETEE < USTETEe < CUETEe

Who among the following proposed the concept of "Stored Program
Execution" ?

A) John von Neumann B) Bob Kahn

C) Allan Turi D) Tim Berners-Lee

= o 9 R “%ésﬁmnqa@m”ﬁmwmaﬁ?
(A) SHIH=ET (B) S &ied  (C) TeM i (D) fom sg -t

Which generation of computer systems replaced vacuum tubes with transistors ?

(A) Second (B) Third (C) Fourth (D) Fifth

L (e sh ferdl WGl o oA ZoH <hl ZIISTEeH o |1 Sgetl 7

(A) Tedt= (B) et (C) =neft (D) ur=df

333 process of Writ(i]rsljg dtqta.on aCD is( éa:l)sotl)mown as d%ta ktp the CD.
roasting ryin urning (D) baking

T H1.E. (CD)W%@%@%@W@@H@@.@. (CD) W HET

i hET ST 7 | ‘ '

(A) T (B) TSN (C) s (D) s

7 ~ Code No. : C-780/2022/Series-A
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39. Which register is used as a working area in CPU ?

(A) Accumulator (B) Stack Pointer

(C) Program Counter (D) Instruction Register
TIET 1 SN CPU H Teh ek THAT 3 AR WX Tohal ST & 2

(A) THREHTH (B) T gL

(C) TITH T3l (D) TR T

40. What is the full form of SEO ?
(A) Software Engineering Organization
(B) Search Engine Optimization
(C) Semi-Elastic Object
(D) Search Enabled Operation
SEO 1 901 &9 12 ?

(A) = ST SR (B) T 3o SATHTEATH

(C) THt-3ATh 3Teslae (D) T 3eeS ATRIA
41. Which provides mobile users with positioning, navigation and timing
services ?
(A) EDGE (B) GPRS (C) GPS (D) Bluetooth
i TIST3A IUANTRATIS bl TSI, AR qAT TZIHT B¢ Y= HLAT 8 7
(A) 3.2 (EDGE) (B) Sit.dt.3TR.wH. (GPRS)
(C) Sf.4i.ud. (GPS) (D) =1¢¥ (Bluetooth)
42. Which of the following is a vector graphics output device ?
(A) Laser Printer (B) CRT Monitor
(C) Plotter (D) Dot Matrix Printer
= o | 9 T ekt Iifther 3TReye feamsa g 2
(A) R et (B) ®t.3AR.A. AT
(C) =R (D) sfe #igem e

43. Which of the following software tools is most suitable to create brochures,
newsletters and books ?
(A) CorelDraw (B) Photoshop (C) PowerPoint (D) PageMaker
71 5 & o 91 TR g S, =[Sieted a1 fohdTe S o fu gaass 8 7
(A) HRA G (B) I (C) UEadis< (D) USHeRL

44. Decorative line or taper added to the beginning and/or end of a letter's stem
is called a/an

(A) Ascender (B) Padding (C) Serif_ (D) Kerning
9 (letter) = TH (stem) <hl IE3TTA AAT/ ST 37d T STeit TS SHRICT TS 31T
FEH & .
(A) 3ITT=T (B) ufgm (C) afw (D) i
e
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45.

46.

47.

48.

49.

50.

51.

The user id of a Twitter account is also known as
(A) Tweet (B) Handle (C) Hashtag (D) Mention
TN BT hY IR L& ft HE TR |

(A) e (B) & (C) Tmem (D) =
What is the full form of "QR Code" ?

(A) Quick Rectangular Code (B) Quick Response Code
(C) Quartz Readable Code (D) Quick Readable Code
“QR Code” T QU €U FIT R ?

(A) FlTh FEAITR HIS (B) oo fu=q +ig

(C) TS fgad wig (D) i figaet i

What does the letter 'C' denote in the acronym CPU ?

(A) Control (B) Common (C) Central (D) Computer
Tfgred &9 “CPU” # C YRl &l &

(A) &g (B) i (C) ¥=a (D) HX

Which of the following is not a part of CPU instruction cycle ?

(A) Load (B) Decode (C) Execute (D) Fetch
390 G i CPU SR el &1 YRl & 7

(A) 1 (B) Erhrs (C) R (D) %ed

A CPU consists of control unit, , and a memory unit.

(A) system unit (B) input/output

(C) arithmetic & logic unit (D) peripheral unit EE
T CPU # sl e, YT T B e B 2 | e
(A) Tawmgie (B) $Ye/HAECYLE

(C) 7#fesh ug Aot Jfe (D) ufthe gfe

Which is required to make a hard copy of a digital document ?

(A) Printer (B) Digitizer (C) Scanner (D) Joystick
s fefSiea Siape i T BT idl s | fehgeh! STavaehal & ?

(A) T (B) fefesst () &< (D) Srfeh
Dynamic RAM consumes power and is as compared to static
RAM.

(A) less, slower (B) more, faster (C) less, faster (D) more, slower

ST | UTeR ST ITANT hic! 3 TUT Lk W i gorr A gl

(A) =0, fiift (B) AfUsw, a9 (C) +H, 9 (D) At it

9 ~ Code No. : C-780/2022/Series-A

https://snowstudy.in



52.

53.

54.

5S.

56.

57.

Code No. : C-780/2022/Series-A 10

CMOS is a small amount of memory on a computer motherboard that stores
the BIOS settings. What is the full form of CMOS ?

A) Cache Memory Operated System

B) Complementary Metal Oxide Semiconductor

C) Common Machine Operating System

D) Computer Memory On Semiconductor

CMOS PRI 3 HEIEIE W HARY 1 BT T8 8 St BIOS |fé &1 g% i
21 CMOS HI U ETFRTE ? .
(A) 3 (Cache) AU 3TTeE firen  (B)  Shimelin-edl Hee ifawTgs THiehgdl
(C) =i il SAfaRfen fawen (D) IS THI HH SHhgdet

When power of a computer is turned on, a diagnostic test is carried out to
check the keyboard, RAM, disk drives, and other hardware. This test is
known as

(A) POST (B) REST (C) BIOS (D) CMOS
W@%Wﬁﬂ%mw%wﬁaﬁé,h feth grEa auT 31 BT
&1 AT o TTT T STeMIfeeesh 3 BT 2 | 39 X <l hal Il &

(A) dr.an.wad. (POST) (B) 3m.2.ua.d. (REST)

(C) &t.378.31.1H. (BIOS) (D) H.wg.3 .. (CMOS)

Which comprises of a series of RAM integrated circuits that can be installed
in the motherboard's memory slots ?

(A) DIMM (B) NIC C) SCSI (D) PCMCIA
& W IS Aiched I *[@e aﬁw%&m%ﬁﬁﬂa@é%ﬁﬁﬁwﬁﬁ
T fRaT ST HhaT 2 7

(A) €.31mE.1.w. (DIMM) (B) WA.31E. 5. (NIC)

(C) wa.H.uh.318. (SCSI) (D) .. wH.5.318. 1. (PCMCIA)

Which of the following is a non-impact printer ?

(A) Daisy Wheel Printer (B) Line Printer
%‘(2‘ Dot Matrix Printer (D) Inkjet Printer

H ¥ S Teh A -3F Tt 7 ?

(A) ooft sEie fireex (B) wmsH frmet

(C) sfe Bfeam fix (D) 3 e Tt
What does the letter 'M' stand for in CM YK color model ?
(A) Mustard (B) Magenta (C) Maroon (D) Mango
CMYK et Higel B oot ‘M’ 31 Ffd hidl 8 ?
(A) T (B) &S (C) w&d (D) @
Which of the following is not a unit for measuring CPU speed ?

A) FLOPS B) GHz (C) MIPS D) TWIPS

T g s CPU 3 71fet sl A9 o T weh gfe T&i ® 7
(A) FAE (FLOPS) (B) Sft g¢8(GHz)
(C) T (MIPS) (D) <&@ (TWIPS)
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58.

59.

60.

61.

62.

63.

64.

CATS, CAT6 and CATY7 are the types of

(A) Fibre Cables (B) Wireless Technologies

(C) UTP Cables (D) Coaxial Cables

CATS5, CAT6 a1 CAT7 foreh TR 8 ?

(A) HIZH el (B) STILHE oTeATSI G ‘Eﬁ%
(C) ... (UTP) ShercH (D) hITTREI helcd Ot
Which connectors are used with UTP cables ?

(A) VGA (B) RIJ11 (C) BNC (D) RJ45

AW, (UTP) hacli o |1 hiF H FHiged i TIT 8l &

(A) HSfE (VGA) (B) IS 11(RJ11)

(C) st.wa.H. (BNC) (D) AR, 45(RJ45)

Which layer exists between application and session layers in ISO OSI
network reference model ?

(A) Network (B) Transport (C) DataLink (D) Presentation
ISO OSI =carh Thi-H Hige H TATchIH a7 M T8 o e i & TR A & ?

(A) AT (B) TEUR (C) s fets (D) IS=SH

HTTP operates in which layer of network ?
(A) Network (B) DataLink  (C) Transport (D) Application
HTTP, 3¢ae <l for @R 0 AR BT 8 7

(A) AT (B) < otk (C) TrEde (D) TttohsH

Which of the following IP address is reserved for private use and is not
allowed to be transmitted across the Internet ?

7 5 @ o &1 s f. (IP) TgH Sfeama 3Tt & fofu STfara & aem 39 $etie
T e T shi FEfd TE R ?

(A) 192.168.1.91 (B) 170.21.14.44 (C) 12.12.10.14 (D) 202.40.17.21
GSM, LTE, CDMA are which technologies ?

(A) Cellular (B) Bluetooth (C) NFC (D) WiFi

GSM, LTE, CDMA % € Sl & ?

(A) HHH (B) =Y

(C) TA.UH.Hl. (NFC) (D) 98-8 (WiFi)

Which of the following operating systems is free and open-source ?

(A) 10S (B) Windows (C) Unix (D) Linux

1 & & i w1 rtoRfer fireen g aun su-ad B 2

(A) 3T8.37.Td. (i0S) (B) foe=

(C) FfHT= (D) fore=
S T e N G R B3 Sereek
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65. A program in execution is called a

(A) script (B) process (C) thread (D) software
o Uk T, U HEAT 2 |
(A) fore (B) w&d (C) 98 (D) HiwRSR

66. When a file is deleted in Windows, it is moved to
(A) Recycle Bin (B) Dust Bin (C) TrashBin (D) Garbage Bin
foreist § ST IS et fefere 1 wirelt 2 qe 918 T =reft St 2 |
(A) fEmsafam (B) s=fam (C) <= fem (D) TReS fed

67. Which of the following characters is not allowed in a file name in Windows?
foeist o wIsa o AW | = | ¥ iF 91 fagd afaafad g 2
(A) $ B) * ©€) & (D) #
68. What is the shortcut key to open "Run" dialog box in Windows ?
foe= ® “T (Run)” ST e o @i o foTU SMidehe—aht (key) FITE 7
(A) Ctrl + Shift+R (B) Windows Logo Key + R
(C) Windows Logo Key + U (D) Shift+R

69. Which of the following is the default web browser in Windows 10 fresh
installation ?

(A) Mozilla Firefox (B) Chrome

(C) Edge (D) Safari

fome 10 o 31 Seiore § 1 § & & fewhice da ses & 7
(A) TSl BRAG (B) @™

(C) T (D) FHRT

70. What is the shortcut key to run "Snip & Sketch" tool in Windows 10 ?
faeist 10 ® “feru wvg wha” & il W (RUN) i hi STicehe—hl F1 8 7
(A) Shift+Alt+S (B) Shift + Ctrl + S
(C) Ctrl + Shift + Alt+ S (D) Shift + Win + S

71.  Which command in Windows 10 provide options to manage your computer's
drives (disks, partitions, volumes etc.) ?
oISt 10 o =9 =t ShuTg 3TTueh HI & greed (feweh, mifésra, aiegy 3mfe) =i
BT A o forehed Y AT 8 7
(A) chkdsk (B) diskpart (C) scandisk (D) defrag

72. Which command in Windows 10 displays IP addresses, subnet mask, and
default gateway for all network adapters ?
forerst 10 ® 19 Hi pare Teft Aeaeh 3Tewd & foru 3ng . ugw (IP ugH), ga-e
Tk T feice Te-o wefia #d & 7
(A) ifconfig (B) ipconfig (C) ping
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73.

74.

75.

76.

77.

78.

79.

Which feature of Windows 10 allows the user to quickly minimize all open
windows except the active one ?
A) Snap (B) Peek (C) Show Desktop(D) Shake
=2Is 10 1 S @1 STINThT ! Tfaed foel o ararmar o9 @t geft 58
farerst ol fierar & fafammes = 1 e T a7
(A) &9 (Snap) (B) i (Peck)
(C) I e&@he™ (Show Desktop) (D) 3% (Shake)

What is the shortcut keX to close \the active a]gplication window in Windows 10 ?
fome 10 ® ufea Teftehy famel =l ag i Y SMidehe -t (key) TR ?

(A) Alt+F4 (B) Ctrl + Alt + Del

(C) Ctrl+C (D) F10

Which of the following is not a built-in slide layout in PowerPoint ?

(A) Summary (B) Title and Content

(C) Title Slide (D) Comparison

e 5 9 9 qradis=< 1 foce-39 T8 d-3Ak8e A8l § 7 5

(A) T (B) T3 TS e ¥

(C) T3 TATES (D) HHEfEH

Slide are the visual effects that appear as one slide changes to another.
(A) Rehearse (B) Show (C) Transition (D) Animation

T3S 98 g2 YW (visual effects) & ST Ueh TATSS H GH TAT8S W ST
U Yk BIAT R 7

(A) fed ' (B) I (Show) (C) zifSsm (D) THATH

Which is a visual effect that is added to text and graphics on a slide rather
than to the slide itself ?

gA) Rehearse Timing B) Tweening
C) Animation éD) Transition

Tsh 3 YHTE (visual effect) & S TATEE | SIS S <hl I WATSS
SR AT UM | AT AT 7 7

(A) Fedesfim (B) M (©) wFEwm (D) gifwm

Which of the following keys must be pressed while drawing oval to make a
perfect circle in MS-PowerPoint ?

MS-TTaarE< H T T gd s & o0 3gas sH1d a9d e § & & &l
(Key) SaMT 366 8 7

(A) Insert (B) Alt (C) Shift (D) Cul

When you click a placeholder or an object in MS-PowerPoint, sizing
handles appear around it.

JE 3T MS-Iredise H 3fedide a1 idaicsl W faetss Hid =, Grgsiim
T 38 ITH femrs < 2 |

wps . ®4 0 ©2 D6
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80. A PowerPoint is a pattern or blueprint of a slide or group of slides
that is saved as a .potx file.
(A) style (B) custom (C) template (D) slide show
: TATSS T TS o WG ol Ueh T&Y A1 & < §, | .potx
B3 o &9 1 Ha gl @ |

(A) wIEA (B) &H (C) THTeie (D) TIgE M
81. Which of the following is not a transition effect in PowerPoint ?

(A) Checkerboard(B) Dissolve  (C) Fade (D) Drop Cap

fraferfad & & 1 qreRdise § ueh i shae TR 8 ?

(A) =HETE (B) SreHIed (C) & (D) g Hd
82. Which of the following programming languages is CPU dependent ?

(A) SQL (B) Assembly Language

(C) Python . (D) Java

1 5 @ =6 = st 9 CPU snanf@ & 2

(A) SQL (B) THECH | (C) WA (D) e
83. Which of the following is a system software ?

(A) Spreadsheet (B) Word Processor

(C) Media Player (D) Compiler

o1 o @ o o1 T digeam B 7
(A) Tesfe (B) @seWE@m  (C) Hifswm =ik (D) HHER

84. Which errors in a program leads to undesired or incorrect output ?
(A) Logical (B) Runtime (C) Syntactic (D) Syntax
i | o i Jfeat sraifed an sgfua mseye i i w7 2
(A) SfSTeher (cfrieheh) (B) ersH
(C) T=efaes (D) fa=e=m

85. Which of the following software is not a part of standard Windows
installation ?

(A) MS Office (B) Paint (C) Web Browser(D) Notepad
= 9 & S o1 At wred fomeie ey o1 feem T8 g 7
(A) MS Office (B) Us=< (C) 9™ (D) AU
86. Which application software is required to open a PDF file ?
(A) Adobe Photoshop (B) Microsoft Word
(C) Adobe Reader (D) Microsoft PowerPoint
=1 9 9 S 91 Uwefiehe |fed?’ PDF %18el i Wiei H 31Ta9aeh g1 8 ?
(A) TSd BT (B) WISHIER I€
(C) W et (D) HTSHIETR TERUIE
TN T CoRIAN S Samies A e
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87.

88.

89.

90.

91.

92.

93.

94.

9s.

(A) 3 B) 4

What is the address of the cell at row 25 and column 30 of an Excel worksheet ?

T Teh3fle H U 25 M HIAA 30 F A KT IAT TS 7
(A) AC25 (B) AD25 (C) AN30 (D) AI30

Which of the following is not a valid cell address in MS Excel ?
e & & S MS o | Tt o1 96l 9a1 T8l 8 7
(A) AS$5 (B) $AS (C) $ASS (D) $ASG

How many cells are there in the cell range B2:F12 in MS Excel ?

MS Tee § B2:F12 9 1 8 fohdd Sc@ gld & ?

(A) 55 (B) 48 (C) 52 (D) 44
Which of the following is an absolute cell reference ?

7 9 8 % v i de wed 2 7

(A) @A@10 (B) $AS7 (C) AB7 (D) A5
What will be the value of a cell containing the formula given below?
= gITe TTT B=IeT STeft St 1 T FT BT 7

=5%900%

(A) 40 (B) 45 (C) 50 (D) 55

What will be the address of a cell range from A3 to G5 in MS Excel ?
MS T&E § A3 & G5 o TS &1 1 qaT 1 &A1 ?
(A) A3:G5 (B) A3$G5 (C) A3#GS5 (D) A3-GS5

Consider the following data in MS Excel worksheet :

MS T gehsiie 7 e fed e ger W femm Hifsre

A B C D EAE
1| Name Designation Salary o
2 |Aman Assistant Manager 78000
3 |Surinder Programmer 65000
4 |Dev Paul Operator 28000

What will be the value returned by the function =COUNTA(A1:DS5)?
%R =COUNTA(A1:D5) ERT AT 741 7 &1 8N 7
(A) 12 (B) 16 C) 14 (D) 15

Which of the following is the MS Excel function to count the number of non-
empty cells in a given range?

<1 778 Aoft H 31fed e <kl g i a1 MS THRd SR T s g e ?
(A) COUNTNB (B) COUNTA (C) COUNTNE (D) COUNT

How many worksheets are present in an Excel workbook by default?

919 EIhlee THIe dehgsh | feha! Tehafie feemm a1t € 7
€) 2 D) 5
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96. Which of the following is true about MS Excel default cell alignments ?
(A) Both text and number are aligned left.
(B) Both text and number are aligned right.
(C) Text is aligned right and number is aligned left.
(D) Text s aligned left and number is aligned right.

MS THHA Ehice HA TATSH=E o TR A A H g R g ?
(A) Tt 3 3R o arff ST feraerg e 2 |
(B) M e 3TN oK grff 3T ufdaerg B1d # |
(C) e grff 3R e Far srff 37N ufdaerg 81d & |
(D) SR SR 3T qer e el AR Gfqag 8 & |
97. What will be the value returned by the formula =WORKDAY("01-01-
2022", 22) in Excel? (Assume Sunday on 01-01-2022)
TR & HIRAT =WORKDAY("01-01-2022",22) A YH A R E ? (01-01-
2022 @ Sunday HHY)
(A) 30-Jan-2022 (B) 03-Feb-2022 (C) 28-Jan-2022 (D) 01-Feb-2022

98. Rotating the data from rows to columns or vice-versa in a worksheet is called
(A) Pivottable (B) Scaling (C) Transposing (D) Range
Feh3fie | T I U (row) | hicTH AT foeTivd: THT ! &1 Hhad & ?

(A) fEeesa  (B) whfem (C) g (D) ™

99. Which of the following is not a chart type supported by MS Excel?
(A) Area Chart (B) Scatter Plot (C) Volume Chart(D) Line Chart
=1 o 8 b MS Tae g Jmfid = &1 YR T8 & 7

(A) TfEm=rd (B) @@k (C) degHaAR (D) @TEd i

100. Which of the following features in MS Excel lets you record a sequence of
keystrokes and play them again when required ?
(A) Macro (B) Format Painter(C) Wrap Text (D) Pivot Table
MS el H i HT HIeR 3Meh! hi-T ey & HH Nehle i 3R F&d 81 W
3h! ATIH A hi AT CaT @ 7
(A) Tsmt (B) ®HCUTH (C) T4 IRL (D) fuae e

101. Which of the following IP addresses is known as loopback address ?
o= © @ forr [P U 1 o[Ueish UgH hHEl AT 3 ?
(A) 192.168.0.1 (B) 127.0.0.1 (C) 172.16.24.1 (D) 10.0.0.1

102. Which of the following network protocols is used for mapping IPv4 addresses
to media access control (MAC) addresses ?
9 | @ S ° Jedeh TIdeid &1 [Pv4 TSiE ol Hifsan g sl Tgd o
At o fore 3w fepam ST 2 2
(A) DNS (B) SNMP (C) ARP (D) TCP
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103.

104.

10S.

106.

107.

108.

109.

Which of the following is not a valid local IPv4 address ?
=1 o @ S 91 yHfoTa oftehet [Pv4 TeE TR B 7
(A) 192.168.1.1 (B) 10.0.0.5 (C) 260.240.1.1 (D) 172.16.24.1

Which of the following commands make use of ICMP messages to test the
reachability of a specified computer on the network ?

= ® ¥ I o1 FAE Aeash Wiy st i uge @i wlequr % fow ICMP
FHTE HT I HRA § 7

(A) ipconfig (B) arp (C) ping (D) touch

Which of the following is a popular Linux distribution supported by IBM ?
71 @ & o IBM g YHTTd el fored feedieqmm & 7
(A) Red Hat (B) Black Cap (C) Blue Tee (D) Yellow Tie

Which is the on-demand delivery of IT resources over the Internet with pay-as-
you-go pricing ?

(A) Cloud Computing (B) Artificial Intelligence
1(}C) Macilﬁme Learning (D) %Internet 0; Tél%qs
~TE - -7 TSR (pay-as-you-go pricing) s H1Y =1 T gHAS WIT
frenfie st srta-fears é?«ﬁaﬁ 27
(A) FAIS HEALT (B) féfheiiaet sfeefs
(C) =i @i (D) 3T AT g
Which virus released in 1986 is considered to be the first IBM PC compatible virus ?
(A) Heart (B) Brain ©) Mlnd (D) Germ
1986 1 Herd I 91 ARRE IBM PC 1 gl SHHifeeel IRd UHT SITdT 3 ?
(A) T (B) M (C) e (D)
Which is a malware that looks like a genuine application to the user ?
(A) Virus (B) Trojan horse (C) Cookie (D) Worm
I T Teh HTASK & S STFNTehd] hl JAT TATeha 9T T & 7
(A) dIrIE (B) geHAEE  (C) Fehi (D) =

What is the full form of TCP/IP ?

(A) Transit Carrier Protocol/Information Protocol

(B) Telecommunication Protocol/Interlink Protocol E5E
(C) Transmission Carrier Protocol/Internet Protocol [
(D) Transmission Control Protocol/ Internet Protocol
TCP/IP =1 QU 7 #4187

(A) 2T HIER TeIHicl/SHNI TIeihict

(B) CfeTshry{eps Bﬁﬁﬁv‘lﬁ@?{%’@ FIEES!

(C) UM HIER Tehiel/3ete Teihic

_ (D) R et e e St

17 Code No. : C-780/2022/Series-A

https://snowstudy.in



110. Which is a plain text information about browsing session stored on the client
computer by the web server ?
(A) Database (B) URL (C) Cookie (D) Signature
A SIS G FATS SHHRT T TITRA SISO M b FR H Teh Tl S =T i
Wa

(A) see® (B) URL (C) Foh! (D) =R
111. Who among the following is known as the father of World Wide Web ?

(A) Tim Berners-Lee (B) Charles Babbage

(C) John McCarthy (D) Vinton Cerf

= 9 B9 9cE a1$g A T e GET ST 8 ?

(A) T sE-cft (B) Teddgad  (C) A uwrRf (D) faeaas
112. Which of the following is a popular file compression utility software?

= | 9 |1 yafard wiget HRIRH A airea=i g ?

(A) Convert (B) WinWord (C) WinZip (D) Scandisk

113. Which is a combinational logic circuit that switches one of several input lines
through to a single common output line ?

1A T GANSH AT Hlehe 8, ST Thel AT T3S TS o gRT 3Teh SIS ATSH
H Y Uk ol SE AR ?
(A) Counter (B) Decoder (C) Register (D) Multiplexer

114. Which of the following HTML tags is used to draw a horizontal line in a web

page?

1 4 9 %9 |1 HTML ¢ 399 U1 § &t g @ied H ST 2 ¢

(A) <1i> (B) <hr> (C) <tr> (D) <br>
115. How many heading levels are supported by HTML?

HTML g swfia =& oiaed fora € 7

(A) 5 B) 6 <) 7 (D) 8

116. Which of the following HTML tags is used to create a cell in a table row?
71 9 9 ®F 91 HTML 27 ¢8 U | 8 S | 39arf g ?

(A) <cell> (B) <br> (C) <td> (D) <dd>
117. Which of the following attribute of an <img> HTML element is used to

specify the URL of the image file?
U ®13et o URL o1 (TS %t % ot <img> HTML TefiH=e 1 &9 |1 Tiee

I g 7
(A) src (B) href (C) file

(D) target
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118.

119.

120.

121.

122.

How an inline CSS is used in an HTML document ?

(A) Byusing <meta> element in the <head> section of the HTML document.

(B) By using style attribute of the HTML element.

(C) Byusing <style> element in the <head> section of the HTML document.

(D) By saving the CSS rules in an external file and linking it with the HTML
document.

HTML STRIE= | 3eirs CSS Sl M g1 g ?

(A) HTML Eﬁﬁgﬁ? % <head> ¥R ¥ <me ta> TfcTH=2 I ITAT Hih

(B) HTML Ufetd=< & wigd T ITANT Hleh

(C) HTML SfRH= % <head> T <style> UfeTH= T IUINT Hih

(D) TFHTA gl § CSS =i 31 T shteh 3T 36 HTML SR o A1 fofeh ohieh

What is the correct CSS rule to set the background color of <h1l> elements
to red ?

<h1> TfTH<H % SHUTSE el Sl AT T i o ot i A1 TE CSS TA R 7
(A) hl{background-color : red;}

(B) .hl{background-color : red;}

(C) #hl{background-color : red;}

(D) <hl>{background-color : red;}

Which of the following HTML tags is used to create a hyperlink in a webpage ?
a0 H grqifoiesh s=H o foru f= 8 9 fovg HTML ST s ST 8T 8 7
(A) <1link> (B) <1i> (C) <a> (D) <href>

In analog computer

I.  Input is first converted to digital form

II.  Input is never converted to digital form b

III. Output is displayed in digital form O}

IV. All of these

Pick the correct statement :

(A) T&1II ~ (B) ILIIandIV (C) Only Il (D) None of these

[. 39 9&d SN {«olwﬁqq«mlél

. 3qe st fefteet weu d 7 sgerar 2 |

1. 33eye fefvee wen # yefsia gmar g |

IV. Ig a4l

@%WE\!&N:

(A) 13RI (B) ILIII3MRIV (C) whad II (D) 3T | g &l

What is the responsibility of the logical unit in the CPU of a computer ?
gA) To control flow of information EB) To produce result
C) To compare data D) None of these

HFRI b CPU o AlTSTohel Y[ oh1 AT STRGTRI & 7

(A) I o JeTg 1 T (B) WWW
(C) 3ATHST THAR BT (D) T ¥ I &
T T T T
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123. MICR stands for
(A) Magnetic Ink Character Region (B) Magnetic Ink Character Recognition
(C) Magnetic Ink Code Recognition (D) Meta Ink Character Recognition
MICR 1 aTcqd
(A) THfeeh 3 Haet fom (B) A 3o hidkeX Fpifge
(C) THfeeh 3 pig fapifem (D) W 5 hiaex fapifies

124. Which printer uses light beam and electrostatically sensitive black powder ?
A) Dot matrix printer B) Daisy wheel printer
C) Chain printer D) Laser printer

i &1 T3 Tt gt 3TN forgd -T2k Hela! shiet T3S shl SN HLdT1 & 7

(A) sic Afgd fi (B) ol =ied fiiet
(C) =H frex (D) <SR fiex
125. Which is an example of non-volatile memory ?
1A T 3G HHRT T 3CEW 8 ? 2
(A) RAM (B) ROM (C) LSI (D) VLSI
126. Secondary storage does not
A) require constant power B) use magnetic media
C) store information for later retrieval (D) None of these

HUSTUT
(A) H fraa wifer <t stregerehar &l Bl |
(B) #fesh Hifean ot s 7 ol 2 |
(C) et G511 o ToTT EemT sh1 WOSHY & e |
(D) 38 & IS Tl

127. Conversion of binary number (1001010), to its decimal number is
IS0 F&AT (1001010), T 35T CIHET HE&AT H FIT=HT & —

A) (72)19 (B) (63);9 C) (74)y9 D) O

128. Which is a collection of system programs that together controls the operation
on a computer system ?

gA) Operating system :B) Application software
C) Both(A)& (B) D) None of these
I AT Toeen Il 1 TUE 7 S @ Teh HE e T y=Te
fremm e & 7
(A) srfen fawen (B) T HifeaR
(C) (A) 3T (B) Tl (D) 3 & FrE T
129. Which is classified as low level language ?
A) COBOL gB) C++
C) Machine language _ D) Both (A) and (B)
1 wad= w1 & 9 ° affea fpan STt R ¢
(A) COBOL (B) C++ ‘
(C) #HefH W (D) (A) 3R (B) gMi
ot N T CoRI AN Samias A g
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130.

131.

132.

133.

134.

13S.

When you install a new program on your computer, it is typically added to the

(A) All programs (B) Select programs

(C) Start programs _ (D) Desktop programs

ST 3T 379 L H Teh 1 NI 36 hld 6, I8 (1T 9 8 Jod1 8 —
(A) |+t S | (B) focree yomi &

(C) I I & (D) SEherd Tl |

Which term is used in MS Word to describe the act of correcting something ?
(A) Erase (B) Formatting (C) Correcting (D) Edit

TH.TH. S H e U  hrd 1 FUH H o foTT fohel v i Sram foam Sirer 2 2
(A) S (B) wHfT (C) =hifaem (D) tfee

By default the cell content alignment in MS Excel is

(A) left aligned

(B) centrally aligned E#E
(C) text left aligned and numbers right aligned [
(D) None of these

TH.TE. TR B 1 f5whiee et hede TATETi= 2idl & —

(A) TR TATES (B) Hwell TATES

(C) TR TR TS IR TR 52 TaE(D) 370 & I8 Tl

A file which contains readymade style slides that can be used for a presentation
in MS PowerPoint is called
(A) Wizard _ (B) Autostyle  (C) Pre-formatting(D) Template

TIEd TA18E Bld] @ TSl TH.TH. JeUE< § Y29 &
WWWWH%N% HEATI & —

(A) fasme (B) 3fdrersd (C) WM-wmfem (D) e

In DBMS, which level of abstraction describes how data is stored ?

(A) Logical level (B) Conceptual level
(C) Physical level (D) Schema

DBMS H 3 sl i A1 &R S0 LT 2, ST HH HUSINA B ?
(A) drfehes &R (B) TeheUHTcHe &R
(C) ifass &R (D) Thm

The interactive transmission of data within a time sharing system may be best
suited to

(A) simplex lines (B) half duplex lines

(C) full duplex lines (D) None of these

<HTet RISl SUTTC! H ST ol SFI-=shell TervT fohtfeh foq Stfereh Suger & Tehell & 7

(A) ﬁqtqﬁwwsra (B) BH-gEIHE ABH

(C) PA-THITE ATSH (D) Eﬁﬁaﬁéﬁ
T8 NG T CAR0A0 ek
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136.

137.

138.

139.

Personal logs or journal entries posted on the web are known as

(A) blogs (B) list servers

(C) web carts (D) subject directories

IS T STl T T AN AT el Trdl ohd 911 & 9 A1d 8

(A) A (B) fore @at

(C) J& e (D) Tsolae STEtard]

Worms normally move around and infect other machines through

(A) computer programs (B) computer networks

(C) computer hardware (D) None of these

I gHT=E: BRI 37 WM < I ST g0 & 3R 38 JHIfad i & |

(A) I IUM (B) HE AeTeh (C) HAI gERR (D) 0 A IS &

NAND gates can be used to perform which type of operations ?

(A) NOT (B) OR (C) AND (D) All of these
fop® TR & T=ITAAT o 59T o felt NAND e 9= foht ST Hehd 8 7
(A) NOT (B) OR (C) AND (D) g gt

The compiler converts your C++ instructions into
(A) objectcode (B) editedcode (C) sourcecode (D) translated code

FHITST 3T C-+ TN hl H Sgerdl & |

(A) SR e (B) GWRAHE (C) EAPIE (D) AT HIg
140. MS-DOS supports file names upto characters in length.

(A) two (B) four (C) six (D) eight

MS-DOS h{dFeX Teh TF BISeT ATH ohl HUIC hidT & |

A @ B) w® © = (D) 33
141. Which of the following presents the most significant feature of Indus Valley

Civilization ?

(A) Burnt brick buildings (B) Art & architecture

(C) Buildings of worship (D) First true arches

o 1 9 1 Ty =nét wvard <6l wdifoss foreraror forivan seqd s g ?

(A) TR 321 o Wad (B) AT 3TR T

(C) 9T & (D) W drdfaeh A
142. The chief impact of vedic culture on Indian history was the

(A) Consolidation of caste system (B) Growth of Sanskrit

(C) Progress of Philosophy (D) Rise of other worldly outlook

AT SfaaT8 T AT Teehid sl TqE@ THE A1

(A) aﬁwawwgaﬁw (B) T&hd 1 forsh™

(C) TIHIme i Jf (D) 311 A7 TrTeaT i et
o e CR A Semiae A g
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143.

144.

145.

146.

147.

Buddha’s preachings were mainly in regard to

(A) idol worship (B) beliefin one God
(C) purity of thought and conduct (D) practice of rituals
52 % T e = FRe T 9 0

(A) Tfd gar (B) Ueh 33eR H fagamd
(C) Toram 3R 3rreror 6t gl (D) HHHIUS T JEeH

Hindu colonies were founded in the South-East Asian countries mostly during
the period of the

(A) Guptas (B) Mauryas (C) Rajputs (D) Cholas
<feor—elf wfires ot # fag Sufvaw stftrehiera: ferereh <hret o G wfia gu Y 7

(A) T (B) =& (C) T (D) =Tt
Which of the following causes was not responsible for the downfall of Mughal
empire ?

(A) Deccan policy of Aurangzeb

(B) Religious policy of Aurangzeb

(C) Mansabdari system

(D) Revolts in various provinces of the empire

frefefiad o & 19 |1 HROT T FTHTST @ Uad o foe fer 78 o 7
(A) ITee i gfaqor Aife

(B) TS 6l enfes Hifd EEE

(C) HAGSGR JoTTett o}

(D) =T % fafy= gral ¥ fogie

Pallava kings are remembered as the makers of rock cut temples at

(A) Rameswaram (B) Thanjavur
(C) Khajuraho ’ (D) Mahabal@puram ’
Toed TSI T Teh—ehe AfA o T o &9 7 a1 fopu ST & 2

(A) THERT, (B) @R (C) SR (D) WETSeg

The Sultan who refused to recognize the authority of the Caliph was
(A) Ghiyasuddin Tughlaq

(B) Alauddin Khilji

(C) Qutbuddin Mubarak

(D) Muhammad-bin Tughlaq

Hera e @efl®T 1 1 bl JT91 d kR L fea, o

(A) frTgedE g (B) 3TcT3<eH Raetsit
(C) $asa ok (D) Hewg-fsd Feh
i
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148. Which is the most significant contribution of Sardar Vallabhbhai Patel to
modern India ?
(A) His Presidentship of Indian National Congress
(B) His role in Non-Cooperation Movement
(C) His participation in Quit India Movement
(D) His achievement of integration of princely states
Y WA I THER TeAWHTS TS ol Ha (oo HgaqUl ANTGH 91 AT 7
(A) ITh! TR TSI 1T I AT
(B) 3TEEAN HTGIet | 3Teh! et
(C) WRd B! IS | I7eh! Whfierd
(D) 3eh! T o WehiIshtuT sh Juaifey

149. Why did Rabindranath Tagore renounce his knighthood ?

(A) He wanted to join the Congress party and become its President.

(B) He was not satisfied with the Constitutional reforms introduced by the
Govt. of India Act, 1919.

(C) His heart lay torn with anguish over the atrocities of the British
Government in Punjab especially the massacre of innocent people by
Dyer at Jallianwala Bagh.

(D) He wished to participate in the satyagraha movement started by
Mahatma Gandhi.

TEAT ST A 3TUHT AT8ege AT e ?

(A) T B T & TS 3T ITehT 31981 F1 =18 < |

(B) 9% YA ThR JfIf=m, 1919 gH1 Iy fohu TTu Haefeh Gumi & dqse el o |

(C) 37h! EcF UTTa 1 ST TR 3 AR 9 SfAITETAT ST H SRR g
eI ST % geTehIvS | ST &1 T o7 |

(D) o8 WETcHT Meft g TATY T TR | AW o1 =T8d o |

150. The importance of Gandhiji’s Non-Cooperation Movement was that
(A) it was a great movement on a large scale
(B) non-violence was employed for the first time as an effective weapon of
mass movement.

(C) it showed the ability and the willingness of the people in general to
endure.

(D) None of these

ST o STHEAN TGl I Hed o1 fh

(A) T8 §S I T T foremel Ao o |

(B) S 3ATGrer o YTl B & &9 T ugelt IR AT st ST foham o o |

(C) & I <ht T& ohid <h &THdT 3T <1 <hi ST |

(D) T | I3 &
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151. Which of the following is a feature common to both the Indian Federation and
the American Federation ?
(A) A single citizenship
(B) Dual Judiciary
(C) Three lists in the Constitution
(D) A federal Sugreme Court to interpret the Constitution

feadasad WA T 3 SR g5 A @ 7
(A) Tehed AR mmE
(B) <t =rmadiferent =t

(C) wfaym o o gret
(D) Hfaea & fie=m & e we e e =

152. Which is not specifically mentioned in Article 19 of the Constitution ?
(A) Freedom of speech and expression
(B) Freedom to assemble peacefully without arms
(C) Freedom to move freely
(D) Freedom to the press
I4 |1 wfaa % s 19 1 fafyred: Scoifga adi g 7
(A) a 3R Tfyefaq i @aaar  (B) SMfaqeeh FRIGE THH hi Tadad]
(C) Traty d=ror Y T (D) I < Terad

153. What is the minimum age to become a Rajya Sabha member ?
(A) 21 years (B) 25 years (C) 30 years (D) 35 years
TS YT G614 o foft =JHam ST =1 8 7
(A) 21 a9 (B) 25aY (C) 3099 (D) 3599

154. When a financial emergency is proclaimed
(A) repayment of government debts will stop
(B) payment of salaries to public servants will be postponed
(C) salaries and allowances of any class of employees may be reduced
(D) Union budget will not be %)resented

S foritar 3maTaeRTe BNy g
(A) |THRT 0T 1 GITAH Feh SR |

(B) ieh Baehi shl e ol TfiTd g1 |

(C) =Tl o fopelt ﬁ@?%éﬁ? 3R 9l H el Bl Fehelt 7 |

(D) TET S91¢ Iqd &1 g0 |

155. Nationalisation of banks was done with the purpose of

(A) financing the industries (B) improving credit facilities

%% consolidating\the economy (D) improving security of deposits
T USSR Tendt 3Tevd T Toham T o7 ?

(A) I T foraryor (B) RV Giaenati § gUR

(C) SAIITEAT T GE I (D) SIS <h! & § gar
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156. An indirect instrument of monetary policy is

(A) Statutory Liquidity Ratio (B) Cash Reserve Ratio

(C) Bank Rate (D) Open Market Operations
il =1 AT T B

(A) ST qeeTdT 3UTa (B) Thg IS

(C) S (D) Tl ISR 6t fshamd

157. The lowest layer of atmosphere is

(A) Troposphere (B) Stratosphere

(C) Ionosphere (D) Mesosphere

TSR0 <l ol F=refl W &

(A) avmvsd  (B) §HaMUisA (C) IR UUSH (D) Hed HUSH

158. Which is a metamorphic rock ?
(A) Limestone (B)_Granite (C) Basalt (D) Marble
S JLHEG ? .
(A) IA-9R  (B) IR (C) ST (D) "mHE

159. A stretch of sea water, partly or fully separated by a narrow strip from the main
sea s called

(A) Bay (B) Isthmus (C) Lagoon (D) Strait

&I AR & Hehivl T2t g TR 3120aT qU1 9 § Jeh, TG A

SR & |

(A) @ B) = (C) FEEE (D) FASHEH
160. Indian desert is known as

(A) Gobi (B) Sahara (C) Thar (D) Atacama

S ST ST 8 —

(A) e (B) @&m (C) ¥R (D) ITTHMI
161. Loktak isa

(A) River (B) Valley

(C) Mountain range (D) Lake

2 TH
(A) 7@ (B) =mél (C) wdawenm (D) ¥«

162. Which of the following area of Indian subcontinent becomes the area of low
pressure in summer ?

(A) Rann of Kutch (B) Rajasthan
(C) North Western India (D) Meghalaya
Www@qwﬁmﬁ?&aﬁﬁﬁm SERIC AT KA C RSP ECERS IR
(A) TS B (B) TSRAM
(C) IR Ufyad vra (D) HuTe™
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163.

164.

16S.

166.

167.

168.

169.

170.

The “Valley of Flowers’ is located in which state ?

(A)_H.P. (B) _U.P. (C) Sikkim (D) Uttarakhand
"Gl shi BTl fopd TS H feua g

(A) fer=@Tew (B) Swuew  (C) Tafaew (D) ITETS

‘Mumbai High’ is related to

(A) Petroleum (B) Iron (C) Tomb (D) Jute
(A) giferm (B) <iiE (C) wesll (D) Sk
Respiration process requires

(A) Oxygen (B) Water (C) Heat (D) Sunlight
T WishAT § AT &

(A) 3SH (B) 5 (C) s (D) IR

The large amount of sugar present in human blood is
(A) Sucrose (B) Glucose (C) Fructose (D) Lactose
TG SR § S A1 § IUfed R B

(A) oI (B) I (C) RS (D) &

Persons suffering from myopia are advised to use

(A) Convex lens (B) Concave lens

(C) Plano-Concave lens (D) Plano-Convex lens

wrRIToR & Yifed safed = o ITANT <hl HATE & STl & |

(A) ST SE (B) el ofd

(C) TSI e (D) Fwaad ol

The device used to change the speed of an electric fan is

(A) Amplifier (B) Regulator (C) Switch (D) Rectifier

ferggar a@ o1 Tfer o e ot o S 89 aTett i 8

(A) Jadis (B) T (C) = (D) uiEnes

Chemically Lime water is

(A) Calcium Carbonate (B) Sodium Hydroxide

(C) Calcium Hydroxide (D) Sodium Carbonate  ELiE

TEEH &9 Y T4 T IH & o}

(A) SHfcwm (B) Hifeaw esgaaTss

(C) Hfewm e (D) Gifsam reie

Which metal is protected by the layer of its own oxide ?

(A) Silver (B) Calcium (C) Iron (D) Aluminum

w1 HTq IHeh T o JATFATES <hl 0 G GUlerd i S & 2

(A) =iaT (B) hfeead (C) w8 (D) TegMmfRm

e
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171. Spiti and Kinnaur are separated from Tibet by which mountain range ?
(A) Dhauladhar (B) Zanskar (C) Choordhar (D) Shiwalik
3R foh=IR & €t T *[@et g fassd 9 gk

(A) Hemer (B) e (C) TR (D) farafers

172. Hangrang valley is located in which district of HP ?
(A) Kinnaur (B) Sirmour (C Kullu (D) Lahaul-Spiti
T =Tl feHree sl%{sr o ford foret 7 e
(A) fr=t (B) T (C) %WL (D) wmEra-wfifa

173. Which is the largest river in HP ?

A) Satlej (B) Beas (C) Chenab (D) Yamuna
3T i TH TS A DA AT 7 7
(A) Hae (B) = (C) = (D) IHAT

174. By which name Himachal is introduced on the tourism map ?
(A) Shiv Bhoomi (B) Apple Land (C) Peach Bowl (D) Devbhoomi
X fearee fohg A g uftfea @ 2
(A) Frmgfr (B) mEum () FFHFM (D) <A

175. Shitidhar is located in which district of HP ?

]&w% Kullu (B) Mandi %C) Kangra (D) Chamba
Y fewreret Sow < fopet frer o oo 2

(A) el (B) #uEl (C) TSl (D) =T
176. First Deputy Speaker of HP Vidhan Sabha was

(A) Krishan Chander (B) K.L. Mehta

(C) N.C. Nandi (D) Pandit Jaiwant Ram

fewTeret gew foem @t < gum sureay 9

(A) FFR  (B) *.UA. Hga@l (C) THL A (D) ufed SwEd

177. Who was the Chairman of joint meeting of Shimla Hill states rulers and Praja
Mandal representatives held in January 1948 at Solan ?
(A) Durga Singh (B) Anand Chand (C) Vijay Singh (D) Garur Sen
e H el 1948 T TR RIHeT UeTe! TS [MMEeh! 3R ISHSA
i TR T JTFT DA A 7

(A) gl &g (B) IMewg  (C) fesmfas (D) ™=@\

178. When did a polfoular Ministry headed by Dr. Y.S. Parmar assume office in the
Part ‘C’ state of HP ?
A) 24™ March, 1948 B) 24" March, 1950
0) 24 March, 1952 D) 24" March, 1954

<7, 919, UH, TR % Feerd] aTel Tig Herd 3 Rareet 92w % U ‘C” U i
HRITR e TZUT T ?

(A) 2491, 1948 (B) 24rr|€f 1950 (C). 24rr|%f 1952 (D) 24rr|%f 1954
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179.

180.

181.

182.

183.

184.

18S.

Which Sikh Guru is linked with the Paonta Sahib Gurudwara ?

(A) Guru Nanak (B) Guru Arjun Dev
(C) Guru Tegh Bahadur ~ (D) Guru Govind Singh
A g 1% uier e eg A TEg E 7

(A) T&A"%  (B) A (C) Tdmseigl (D) TG g

Who is the creator of the Murals on the walls of the Mall, Shimla that depict the
apple plucking skill of Himachali people ?

(A) S.N.Roerich (B) Shobha Singh (C) M.C. Saxena (D) None of these
e < ota i <t ) ufa-Tat, s for femmeett S & a9 died & Sive
1 TG L &, T Foleh I & 7

(A) . A (B) wmwifig  (C) W.H. AT (D) 398 8 +I3 T8

Which Kangra ruler accepted the rule of Akbar ?

(A) Alam Chand (B) Dheer Chand

(C) Anand Chand (D) Dharam Chand

feh ShITTST IMTHe < 3TehaL ohl ITHT TR fohaT 7

(A) IeMEg  (B) €R=g (C) JFgEg (D) “H =g
On what date did the Indian Parliament pass the State of Himachal Pradesh Act ?
(A) 1% November, 1966 (B) 18™ December, 1970

(C) 26" November, 1969 (D) 15% April, 1954

I T T9¢ A Topg fe femmerer siewr U= arfufam urfea fepam 2

(A) 178, 1966 (B) 18 famsm, 1970 E .
(C) 26 79K, 1969 (D) 15 373, 1954 :
The Kayang, Bakyang and Banyangchu are the famous dances of

(A) Mandi (B) Kullu (C) Lahaul-Spiti (D) Kinnaur
SR, ThATT I ST hal oh TG T & ?

(A) HUE (B) FeoeL, (C) aRa-wfify (D) fFik

In which year the target of total electrification was achieved in H.P. ?

Tru foregeitentor b1 oiedt TeTaret et = fohe o sie e

(A) 1985 (B) 1988 (C) 1990 (D) 1995

Who received the first Pahari Gandhi Baba Kanshi Ram award in 1989 ?

(A) Jai Dev Kiran (B) Om Prakash Saraswat

(C) Ashwani Garg ' (D) Pt. Bhavani Dutt Shastri

T 1989 | o ygT! el are shiefiud qeehR foha e femam 2

(A) 1 <d fertor (B) 37 JehTST TT=A

(C) et (D) d. Wl ga et
e T e N CA R A e A
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186. European Organization for Nuclear Research — CERN has recently suspended
the observer status of which country ?

(A) Russia (B) Ukraine (C) Belarus (D) USA

U IR STTHEM T84 — CERN H 1t § fohe <21 o1 weidegeh gl feifaa
frma 7

(A) &1 (B) g (C) SeITEd (D) amfes

187. What is the theme of National Youth Parliament Festival 2022 ?
(A) Be the voice of New India and find solutions and contribute to policy
(B) Voice of Youth matters
(C) E-Governance and use of ICT
(D) Participation of Women in Parliament

ST Y e hieead 2022 H S FE ?

(A) T WA <hl STTETS ST 37 g (Hehifere aen Hife & Firem € |
(B) IaT <l ATATS HEwe @t & |
(C) 3-Ta-g 3T ICT T 39T
(D) THg | ufganati i arfiert
188. What is ‘PARAM Ganga’, which was in news recently ?

(A) Covid Vaccine (B) Ganga Rejuvenation Scheme
(C) Super Computer (D) Crypto Currency
O T ), SR BTl W HHTe | o7 ?
(A) hiferg Al (B) AT ShIATehed ST
(C) g HX (D) foreet shieht
189. Which country is the largest crude oil producer in the World, as on 2022 ?
(A) Russia (B) USA (C) Saudi Arabia (D) Iran
T 2022 T f9a H shed dcl ol T ST ICITCh A hIH AT R ?
(A) &9 (B) 3T (C) T¢I 3& (D)

190. In a certain code SUBSTITUTION is written as ITSBUSNOITUT. How is
DISTRIBUTION written in that code ?

fepeht Ffeard e § SUBSTITUTION @i ITSBUSNOITUT forat S & | 3t
%e |, DISTRIBUTION ! fh8 SR for@n srem 7

(A) IRTSIDNOITUB (B) IRTSIDNOIBUT
(C) IRTDISNOITUIB (D) IRTDISNOIUTB
., i ——— L

https://snowstudy.in



191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

In a row of 24 students, when Janki was shifted by 4 places towards left, she
became 8" from the left end. What was her earlier position from the right end
of the row ?

(A) 12% (B) 13 (C) 14t (D) 15

24 BT %1 Tek Ul o, & SR IR 3R 4 T R 1) 2, a1 98 919 ¥ 84
T W AT AT 2 | ufer B grif 31 & 3ueht qd <hi fexfa = oft 7

(A) 12 (B) 134 (C) 14di (D) 154

Pointing to a woman in a photograph a man says, “she is the only daughter of
my father’s mother-in-law”. How is the woman related to the man ?

(A) daughter (B) mother

(C) daughter-in-law (D) mother-in-law

GBI T Teh HiEel <hl 3T SR shid §U Ueh To hedl 8, “Tg W e shl @@
6 SheId! Sehl & | I8 HigAT fohd TohR &Y § Fafud @ ?

(A) T (B) #rat ©) =7 (D) &4

Antonym of the word ‘Despondency’ is
(A) Humility (B) Pleasure (C) Cheerfulness (D) Excitement

One word Substitution for ‘Constant effort to achieve something’ is

(A) Perseverance (B) Attempt —
(C) Enthusiasm (D) Vigour ok
Ajit promised me that he would come did not turn up.
(A) and (B) though (C) but (D) still
Meaning of the idiom ‘to keep the ball rolling’ 1s
(A) To earn more & more (B) To create chaos
(C) To change the sorry scheme (D) To keep the conversation going
g 1 wf forede 2
(A) g+ (B) W+ (C) W+zm (D) G+ W
AR § T g
(A) deges (B) %% (C) sewfiwa (D) weshife
= W TR e
(A) = (B) =i ©) # (D) %
ENGECIRRIDCI Gl
(A) dred (B) &&w (C) wareR (D) 1§
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